

TOWN OF COCHRANE

BYLAW 06/2023

Being a bylaw of the Town of Cochrane in the Province of Alberta, Canada to authorize the rates of taxation to be levied against assessable property within the Municipality of Cochrane for the 2023 taxation year.

WHEREAS: The Town of Cochrane has prepared and adopted detailed estimates of the municipal revenue and expenditures as required, at the Council Meeting held on December 12, 2022; and

WHEREAS: The estimated municipal expenditures and transfers set out in the budget for the Town of Cochrane for 2023 total \$74,310,285; and

WHEREAS: The estimated municipal revenues and transfers from all sources other than taxation is estimated at \$39,139,915 and the balance of \$35,170,370 to be raised by general municipal taxation; and

WHEREAS: Requisitions are required for the Alberta School Foundation Fund (ASFF); Calgary RCSSD #1; Designated Industrial Properties and the Rocky View Foundation.

WHEREAS: The Council of the Municipality is required each year to levy on the assessed value of all property tax rates sufficient to meet the estimated expenditures and the requisitions; and

WHEREAS: The Council of the Municipality is authorized to classify assessed property, and to establish different rates of taxation in respect to each class of property, subject to the Municipal Government Act, Revised Statues of Alberta 2000, Chapter M-26; and

WHEREAS: The assessed value of all taxable property for the purposes of calculating the municipal tax rate in the Town of Cochrane as shown on the assessment roll is:

Assessment \$6,506,764,280
Non-Residential \$700,603,900
Total Assessment \$7,207,368,180

WHEREAS: The assessed value of all taxable property for the purposes of calculating the education requisition tax rate in the Town of Cochrane as shown on the assessment roll is:

	Assessment
Residential/Farmland	\$6,501,276,080
Non-Residential	\$689,343,500
Total Assessment	\$7,190,619,580

WHEREAS: The assessed value of all taxable property for the purposes of calculating the Rocky View Foundation requisition tax rate in the Town of Cochrane as shown on the assessment roll is:

	Assessment
Residential/Farmland	\$6,517,557,980
Non-Residential	\$809,266,800
Total Assessment	\$7,326,824,780

AND WHEREAS: Section 364 of the Municipal Government Act, Revised Statues of Alberta, 2000, Chapter M-26, allows Council by bylaw to exempt from taxation machinery and equipment used for manufacturing or processing.

NOW THEREFORE: under the authority of the Municipal Government Act, the Council of the Town of Cochrane, in the Province of Alberta, enacts as follows:

1. That the Chief Administrative Officer is hereby authorized to levy the following rates of taxation on the assessed value of all property as shown on the assessment roll of the Town of Cochrane:

Alberta School Foundation Fund (ASFF)

Residential Non-Residential	Assessment 5,831,792,293 648,766,721 6,480,559,014	Tax Rate 0.0022284 0.0035258	Tax Dollars \$12,995,566 \$2,287,422 \$15,282,988
Calgary RCSSD 1 Residential Non-Residential	669,483,787 40,576,779 710,060,566	0.0022284 0.0035258	\$1,491,878 \$143,065 \$1,634,943
Municipal Purposes & Debt Servicing Residential/Farmland Non-Residential	6,480,236,780 695,497,920 7,175,734,700	0.0046032 0.0075315	\$29,829,826 \$5,238,143 \$35,067,969

Municipal Purposes & Debt Servicing – Annexation				
Residential Annex	26,502,400	0.0024440	\$64,772	
Non-Residential Annex	5,105,980	0.0073320	\$37,437	
Farmland Annex	25,100	0.0054990	\$138	
	31,633,480		\$102,347	
Designated Industrial Property	54,936,800	0.0000746	\$4,091	
Rocky View Seniors Foundation	7,326,824,780	0.0000443	\$324,578	
Total Tax Levy (including requisitions)			\$52,416,916	

Total Tax Rate - General	
Residential	0.0068759
Non-Residential	0.0111016
DIP (Designated Industrial	
Properties	0.0111762
Total Tax Rate - Annexation	
Residential	0.0047167
Non-Residential	0.0109021
Linear	0.0109021
Linear DIP	0.0109767
Farmland	0.0077717

2. EXEMPTIONS FROM TAXATION:

- (1) The following property is exempt from taxation for the year 2023.
 - (a) One hundred percent (100%) of the assessment of machinery and equipment used for manufacturing or processing shall be exempt for purposes of general municipal taxes and local requisitions.

3. ADDITIONAL ITEMS:

- (1) For purposes of this Section:
 - (a) "general municipal taxes" means the property taxes imposed pursuant to this Bylaw to raise the tax revenues indicated as Municipal Purposes and Debt Servicing as shown in Section 1.
 - (b) "local requisition taxes" means the property taxes imposed pursuant to this Bylaw to raise the tax revenues for the Rocky View Foundation Requisition

- (c) "Designated Industrial Property" per Section 284(1((f.01) of the MGA means:
 - (i) facilities regulated by the Alberta energy Regulator, the Alberta Utilities Commission or the National Energy Board,
 - (ii) Linear Property,
 - (iii) property designated as a major plant by the regulations,
 - (iv) land and improvement in respect of ta parcel of land where that parcel of land contains property described in subclause (i) or (ii), and
 - (v) land and improvements in respect of land in which a leasehold interest is held where the land is not registered in a land titles office and contains property describe in subclause (i) or(iii);
- (2) The taxes hereby authorized to be imposed, assessed and collected by the aforementioned property tax rates are hereby declared to be and become due and payable to Town of Cochrane on the 30th day of June 2023.
- (3) This Bylaw comes into force on the day it is passed.

This Bylaw shall come into full force and effect upon the date of third and final reading.

Read a First Time: May 8, 2023 Read a Second Time: May 8, 2023 Unanimous Consent: May 8, 2023 Read a Third Time: May 8, 2023

Mayor

Manager, Legislative Services